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!" قبل ما نبلش ا6حاضرة... عشان أنا كتير منيحة ا) يرضى عني
#" قررت أخليكم تكسبو أجر كبير بكل سهولة... شفتو محسني

طب شو هو اPجر وكيف يا Mنا ا6تواضعة؟%$
اPجر يا حلوين أنه تتبرعو برصيد الطباعة تبعكم اذا ما بتحتاجوه لطVب بحاجته (قلتلكم 

&' اجر بسهولة)
طيب شو Mزم نعمل؟

أول شي Mزم تفوتو ع بوابتكم ومن عند خدمات أخرى __ رصيد الطباعة
هk من هي الخطوة بس بدي تتأكدو انو رصيدكم موجود وM خالص لو اعطاك (M يوجد 

اي حركات طباعة حاليا) معناها الرصيد موجود وفيكم تتبرعو فيه
طيب تمام وكيف نتبرع؟

من بوبابتكم ومن عند خدمات أخرى __ الدخول لشبكة اMنترنت (ا6ختبرات والVسلكية)
بتاخدوا اسم ا6ستخدم (والي هو رقمكم الجامعي) وبتنسخوا كلمة السر 

واخر شي بتدخلو على QR code الي تحت) بتعبو فورم التبرع بالرصيد وبس.
سهلة القصة وا) وفيها اجر كبير (اجر ع كل نقطة وحرف وكلمة انطبعت من رصيدك 

لشخص محتاج واجر بكل حرف اندرس من الورق الي انطبع برصيدك الي انت اصV ما 
بتستخدمه).



تأثير الدواء على الجسم



*Ligand could be a drug, transmitter, hormone.



Alpha-adrenergic receptors play an important role in the regulation of blood pressure (BP).
Alpha 2 receptors : inhibit the release of norepinephrine and other neurotransmitters in both the 
central and peripheral nervous systems.
Alpha 1 receptors : are the classic postsynaptic alpha receptors and are found on vascular 
smooth muscle. They determine both arteriolar resistance and venous capacitance, and thus BP, 
pupil dilation

contractivity ف رح يزيد ال C+ 2ا يزيد بالقلب رح يزيد دخول
Smooth muscle in blood vessels          C+      relaxation         Vasodilation





Nitroglycerin sublingual tablets are used to treat episodes of angina (chest pain) 
in people who have coronary artery disease



Spare receptors : are receptors that exist in excess of those required to produce a full 
effect. The presence of these receptors increases the potency of an AGONIST.

Maximal efficacy of a drug (Emax) assumes that the drug occupies all receptors, and 
no increase in response is observed in response to higher concentrations of drug.



I can measure the response. 
Example, Heart rate, Blood pressure, vital signs... 

 ءاود ىضر9ا انيطعا ةبرجتلا ياهب و ،ةبرجت لمعن انررق ول
 HRلا مك ءاودلا نم ةعرج لك دعب فوشنح ،HR لا ديزب
Oميلاع يلا ينايبلا لودجلاب هلثمن و ديزيح
EMAXلل لصون ام ةياغل Curve نوكتيح
 ينعي Graded dose-response هليكحنب لكشلا داه و
 doseلا ديزا ام لك و ضير9اع ةعرجلا ريثأت سيقن ردقنب
 Oعم دحل response لا ديزب

 ام وا response يف نوكيح اي طقف Oلامتحا ينعي ، All or Non اهأدبم ياه اسه
 response يف
 response اوطعا مهنم %10 ضرفع ، ىلوcا ةر9ا ةعرج مهيطعا تأدب و ىضر9ا تبج
 ةياغل اذكهو response اوطعا مهنم%20 ةيناثلا ةعرجلا يطعا تيجا ا9 و  c يقابلا و
response مهدنع راص ىضر9ا لك تاعرجلا نم Oعم ددعب هنا انلصو ام
 ددع number of responder طحب امنا responseلا طحب ام ينايبلا ليثمتلاب
doseلا نم Oباجتس9ا



 ةرضاح6ا اوعجار و هورضحا  ةدشب و هيف حصنأ
 غيرفتلا اوأرقا مث ةيناثلا ةرضاح6ا مهف عم ىلو:ا
تيسح لضفأ ةقيرطب راكف:ا بترم لاعت6ادبع

*Atropine is a competitive antagonist of the actions of acetylcholine and other 
muscarinic agonists. Atropine competes for a common binding site on all 
muscarinic receptor. Cardiac muscle muscarinic receptors are blocked.
*Phenoxybenzamine is an irreversible, noncompetitive blocker of α-adrenergic 
receptors. It forms a covalent link with the α receptor.



*The Emax, maximum efficacy of the agonist 
which in the presence of a competitive 
antagonist remains unchanged

*The EC50, concentration required to 
achieve 50% of the maximal effect, which in 
the presence of a competitive antagonist will 
increase.

 : حيضوت
 تيلض و Agonist ربتعي يلا س ءاود تفض .١
Emaxلل تلصو ىتحل ةعرجلا نم ديزا
 ءاود عم antagonist ربتعي يلا ص ءاود تفض .٢

 ديزا تيلض تظحFف ، agonist ربتعي يلا س
 ىتحل ىلوLا ةبرجتلا نم ربكا ةعرجلا نم ةيمك
Emax لصوا
 :راصتخاب
 potency لا للقب competitive antagonistلا
 Emaxلل انلصو هنا ليلدب ، agonistلا تعبت
ربكأ نوكتب هتعبت EC50لا + ربكا تاعرجب

 ريغ receptorsلا يلخب non competetive لا
 لضتح تاعرجلا دروزا ا[ ىتحف دب\ل ةحلاص

هتباث potencyلا
 ءاود ةعرج دوزا ام لك هنا فلتخي يلا نكلو

 هاعم فلتختب Emaxلا



Quiz Time ⏰"
1) Which of the following best describes how a drug that acts as an agonist at 
the A subtype of GABA receptors affects signal transduction in a neuron?
A. Activation of this receptor subtype alters transcription of DNA in the nucleus 
of the neuron.
B. Activation of this receptor subtype opens ion chan- nels that allow sodium to 
enter cells and increases the chance of generating an action potential.
C. Activation of this receptor subtype opens ion chan- nels that allow chloride 
to enter cells and decreases the chance of generating an action potential.
D. Activation of this receptor subtype results in G protein activation and 
increased intracellular second mes- senger levels.

2)  In the presence of propranolol, a higher concentration of epinephrine is 
required to elicit full antiasthmatic activity. Propranolol has no effect on asthma 
symptoms. Which is correct regarding these medications?
A. Epinephrine is less efficacious than is propranolol.
B. Epinephrine is a full agonist, and propranolol is a partial agonist.
C. Epinephrine is an agonist, and propranolol is a competitive antagonist.
D. Epinephrine is an agonist, and propranolol is a non-competitive antagonist.

3) The neurotransmitters, nor-adrenaline, adrenaline, and dopamine act 
through which of the following receptors ?
A. Single pass transmembrane receptors.
B. Four pass transmembrane receptors.
C. Seven pass transmembrane receptors.
D. Ligind gated receptors



4) which of the following statements best describes the mechanism of action of 
insulin on target cells? 
A. Insulin binds to cytoplasmic receptor molecules and is transferred as a hormone 
receptor complex to the nucleus where it acts to modulate gene expression
B. insulin binds to receptor molecules on the outer suface of the plasma membrane 
and  hormone receptor complex activates adenylate cyclase through the Gs protein .
C.insulin binds to a transmembrane receptor at the outer suface of the plasma 
membrane which will activates the tryosine kinase that is cytosolic domin of the 
receptor. 
D. Insulin enters the cell and cause the release of calcium ions from 
intracellular stores

- و ما الذي يدفعگ للمحاولة ?!
 إ>اني الشديد بأن القاع ليس لي ..


